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(a) (d/dz)(In|f(z)])
(0) [f'(@)]/1f ()]

Principle of log diff:

fl(z) =77

(€) [f (@)]l(d/dx)(In | f(z)])]

(d) none of the above
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(b) z(22)* 1

(e) |1+ x2)$]l - (z-1n (1 + x2))}

(d) none of the above
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(a) e¥ + xze¥ + 1

(b) e¥ + zeVy' + o

(c) e¥ + ze¥ + o

[d/dzx][xe¥Y + y] = 77 \

(d) none of the above
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[d/da][xe¥ + ] = e¥ -

_ xeyyl _I_ y/

= e¥ + (ze¥ + 1)/

(@) e¥Y/(xzeY 4+ 1)

(b) —e¥/(xe¥ 4+ 1)

(c)(1—-¢eY)/(ze¥y 4+ 1)

(d) none of the a

bove
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y' = —e¥/(ze¥ + 1) reY +y =1
slope at (0,1)7

(a) 0

(b) —1

(C) —e

(d) none of the above =
0% 0% 0% ==

3.
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